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(& FEIL AT - R ) (m) | () | (7)) | (F) (M) (M) A ELR L
1 s Vel — k| B | H— 40 | 2,000 25 0 2,000 2,000 | H{E:
2 |t AR k| BE | B 0| 1,000 20 0 1,200 1,400 | fHT
3| AR AR R ANE | ARG 0] 1,221 61 0 1,826 3,663 | PHE
4 | =R B T NE | AR 0| 1,221 61 0 1,826 3,663 | PHE
5 | AT BN NE | ARG 10| 1,826 183 122 1,948 3,774 | PHE
6 |ZHTHT Hil o 2 BE | e 0| 3,666 0 0 3,666 3,666 | HAE
7 |FEpT AT B | 0 700 40 0 1,100 1,500 |  H{E:
8 | ZHTHT E | B | B 15| 1,500 50 0 1,500 1,750 | HfT
9 |IRRT IR HiL X NE | AR 0| 1,496 81 0 2,310 3,905 | PHE
10 |EBiLT 5 P A NE | PR 20 638 115 0 1,133 1,683 | fHT
11 |#B 151 P 750 NE | ORB 20 638 115 0 1,133 1,683 | ffHE:
12 | Bkl Bl ANE | A 20 638 115 0 1,133 1,683 | PHT
13 [HkH AT NE | AR 1| 1,222 112 0 2,342 4,632 | PHE
14 [HFHT [GES RE | EEEH 0| 1,000 0 0 1,000 1,000 | PHT:
15 | KA KRGS INE | AR 10| 1,540 104 172 1,712 3,424 | PHE
16 | FHF VA AN | R 10| 1,625 200 150 1,775 3,775 | FT
Y =) oy T INE | AR 10| 1,100 110 110 1,210 2,310 | PHE
18 | At A X ANE | e 10| 1,870 154 0 1,870 3,410 | PHE
19 | ks o INE | AR 10 | 1,430 143 92 1,522 2,952 | PHT
20 |HA T (L1 i) WNE | Hi# 10| 1,870 242 178 2,048 4,096 | PHE
21 |hAHT i BT P INE | AR 10| 1,870 242 178 2,048 4,096 | PHT
22 |HA T Wi By WNE | R 10| 1,870 242 178 2,048 4,096 | PHE
23 |k g ) 1A+ INE | OB 10| 1,250 130 115 1,365 2,730 | PHE
24 |EEEARTT RAT (T IS LX) NE | R 10 638 77 0 638 1,408 | PHT:
25 | HCERAT VR (R i 1 X)) N | IR 10 638 77 0 638 1,408 | fHT:
26 | EHCE AT I (V8 ) INE | R 10 638 77 0 638 1,408 | PHT:
27 |&EE T R B | HL—fl 0 600 50 0 1,100 1,600 | fHT
28 |SHE T R R | 10 | 1,100 20 0 1,100 1,300 | PHT:
29 |&HEEE AT AR B | HL—1fl 20| 1,000 30 0 1,000 1,000 | fHT:
30 [T AR ANE | Bl 10| 1,100 110 0 1,100 2,200 | PHT
31 |VESEERT BRI NE | B 1| 2,200 209 88 2,288 4,378 | PHE
32 |FEiEmT A2 LAEIRHL X NE | R 10| 2,200 209 88 2,288 4,378 | PHE
33 |VESSHEAT UMK NE | FERR 10| 2,200 209 88 2,288 4,378 | PHT
34 |FEEmT N | FER 10| 2,200 209 88 2,288 4,378 | HT:
35 |VEHE] R N | R 10| 2,200 209 88 2,288 4,378 | PHT
36 |FEHEAT  EEGR INE | R 10| 2,200 209 88 2,288 4,378 | PHE
37 |FEEmT A HIX N | IR 10 | 2,200 209 88 2,288 4,378 | PHT
38 |aEmhny AEBRET INE | R 10| 1,548 155 110 1,658 3,208 | HE
39 MLy LT N | R 10| 1,859 184 92 1,951 3,799 | PHE
40 |= /07 8 NE | B 10 | 1,991 209 0 1,991 4,081 | T
41 | =Ehr A N | B 10| 1,991 209 0 1,991 4,081 | PHE
42 | =BT [P INE | B 10| 1,991 209 0 1,991 4,081 | PHE
43 | = E0T KA H INE | ] 10| 1,991 209 0 1,991 4,081 | PHE
44 | = /sy EZDN INE | B 10| 1,991 209 0 1,991 4,081 | T
45 |4 Ilimy S (LT N | R 10| 2,120 203 83 2,203 4,233 | DHT:
46 |MEFORS o Ly X NE | AR 10| 1,925 198 110 2,035 4,015 | PHE
47 |WBFAT ARl XA 5 K ANE | e 10| 1,925 198 110 2,035 4,015 | PHE
48 | WEFFT K X NE | AR 10| 1,925 198 110 2,035 4,015 | PHE
49 [ FoERmT ey ANE | e 10| 2,080 190 120 2,200 4,400 | PHE
50 | FHpIT kP NE| OB 10| 2,080 190 120 2,200 4,400 | OHE
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(sk eI 2R - R ) (m) (M) (M) (F9) (M) (M) AR ECR DL
51 | F4BHT B b AN | BRI 10| 2,080 190 120 2,200 4,400 | PHT
52 | FHRHT NS NE | AR 0 0 0 0 0 0| PHE
53 | F4BHT Tl AN | BRI 10| 2,080 190 120 2,200 4,400 | PHT
54 | TABHET KA NE | ORRE 10| 2,080 190 120 2,200 4,400 | PHE
55 [M@Blhy R AT N | R 10 951 92 68 1,019 1,939 |  OHE
56 | A GLAT SRS N | B 10| 1,200 150 70 1,270 2,770 | PHE
57 Wi JIlwE; AN | AR 0| 1,188 83 0 2,013 3,729 | PHE
58 Wbl iy ANE| PR 0| 1,188 83 0 2,013 3,729 | PHE
59 [Wbxii HA AN | AR 0| 1,188 83 0 2,013 3,729 | OHE
60 |FRsSTH TN BB | Bl 20| 1,300 100 0 1,300 1,300 | HfE
61 |ffETH KB B | maRR] 20 | 1,600 50 0 1,600 1,600 |  HA{L:
62 |FEFEIGTH /@ ANE | PRI 5| 1,687 88 0 2,127 4,567 | PHE
63 |BfEAT ik INE | AR 10| 1,628 165 77 1,700 3,350 | PHT:
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